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Chapter 18—Basic Elements of Individual Behavior in Organizations
TRUE/FALSE

1.
A psychological contract is like a standard legal contract, formal and well defined.
ANS:
F
PTS:
1
OBJ:
18.1
NAT:
AACSB: A

TYP:
Comp

2.
Since the organization may have hired the person because of her skills, it is reasonable for the organization to expect that she will subsequently display those skills in the performance of her job.
ANS:
T
PTS:
1
OBJ:
18.1
NAT:
AACSB: R

TYP:
Comp

3.
If a person accepts employment with an organization because he thinks he will earn an attractive salary and have an opportunity to advance, he will subsequently expect that those rewards will actually be forthcoming.
ANS:
T
PTS:
1
OBJ:
18.1
NAT:
AACSB: R

TYP:
Comp

4.
If the individual perceives that the psychological contract is fair and equitable, he may request a pay raise or promotion, decrease his contributed effort, or look for a better job elsewhere.
ANS:
F
PTS:
1
OBJ:
18.1
NAT:
AACSB: R

TYP:
Comp

5.
The study of psychology is helpful to managers.
ANS:
T
PTS:
1
OBJ:
18.2
NAT:
AACSB: R

TYP:
Comp

6.
Psychologists have identified thousands of personality traits and dimensions that are especially relevant to organizations.
ANS:
F
PTS:
1
OBJ:
18.2
NAT:
AACSB: A

TYP:
Comp

7.
Agreeableness does not extend to relationships with customers, suppliers, and other key organizational constituents.
ANS:
F
PTS:
1
OBJ:
18.2
NAT:
AACSB: R

TYP:
Comp

8.
Certain religions believe in predestination. According to this belief, God has foreordained all things, especially the salvation of individual souls. This belief is indicative of a belief in an internal locus of control.
ANS:
F
PTS:
1
OBJ:
18.2
NAT:
AACSB: R

TYP:
App

9.
EQ cannot be learned.
ANS:
F
PTS:
1
OBJ:
18.2
NAT:
AACSB: R

TYP:
Comp

10.
Harrison wants to lose weight, but he eats salty snacks because he likes them. He is experiencing cognitive dissonance.
ANS:
T
PTS:
1
OBJ:
18.3
NAT:
AACSB: R

TYP:
App

11.
Job satisfaction is determined by pay level.
ANS:
F
PTS:
1
OBJ:
18.3
NAT:
AACSB: A

TYP:
Comp

12.
Research suggests that Japanese workers are less committed to their organizations than are American workers.
ANS:
F
PTS:
1
OBJ:
18.3
NAT:
AACSB: A

TYP:
Comp

13.
During an interview, people use perception management.
ANS:
T
PTS:
1
OBJ:
18.4
NAT:
AACSB: R

TYP:
Comp

14.
Nicole hears a colleague boosting about his work. She thinks he must be insecure if he has to try to make himself sound good. She has used attribution.
ANS:
T
PTS:
1
OBJ:
18.4
NAT:
AACSB: R

TYP:
App

15.
Attributions consistency is the extent to which other people in the same situation behave the same way.
ANS:
F
PTS:
1
OBJ:
18.4
NAT:
AACSB: A

TYP:
Def

16.
The lighting in a room can cause stress.
ANS:
T
PTS:
1
OBJ:
18.5
NAT:
AACSB: R

TYP:
App

17.
In the workplace, stress is always disruptive.
ANS:
F
PTS:
1
OBJ:
18.5
NAT:
AACSB: R

TYP:
Comp

18.
People with Type B personalities are driven to succeed.
ANS:
F
PTS:
1
OBJ:
18.5
NAT:
AACSB: A

TYP:
Def

19.
One consequence of organizational stress is burnout.
ANS:
T
PTS:
1
OBJ:
18.5
NAT:
AACSB: R

TYP:
Comp

20.
Convergent thinking is a skill that allows people to see similarities between situations, phenomena, or events.
ANS:
T
PTS:
1
OBJ:
18.6
NAT:
AACSB: A

TYP:
Def

21.
Verification determines the truthfulness of the insight.
ANS:
T
PTS:
1
OBJ:
18.6
NAT:
AACSB: R

TYP:
Comp

22.
One important method for enhancing creativity is to make it an explicit goal.
ANS:
T
PTS:
1
OBJ:
18.6
NAT:
AACSB: A

TYP:
Comp

23.
When an individual does not show up for work because of either feigned or real illnesses, absenteeism occurs.
ANS:
T
PTS:
1
OBJ:
18.7
NAT:
AACSB: A

TYP:
Def

24.
Sexual harassment is a dysfunctional behavior.
ANS:
F
PTS:
1
OBJ:
18.7
NAT:
AACSB: E

TYP:
Def

25.
Dan does acceptable work in terms of quantity and quality, but he refuses to help coworkers. He is considered a good organizational citizen.
ANS:
F
PTS:
1
OBJ:
18.7
NAT:
AACSB: R

TYP:
App
MULTIPLE CHOICE

1.
You formulate a(n) ____ with your employer when you accept a job.

	a.
	inducement

	b.
	psychological contract

	c.
	organizational commitment

	d.
	contributory expectation

	e.
	mental picture


ANS:
B
PTS:
1
OBJ:
18.1
NAT:
AACSB: A

TYP:
Def

2.
Ingrid is excited about her new job. She thinks it will be exciting, fulfilling, and rewarding, and will allow her the standard of living she is looking for. She has made a(n) ____ with her new employer.

	a.
	inducement

	b.
	psychological contract

	c.
	organizational commitment

	d.
	contributory expectation

	e.
	mental picture


ANS:
B
PTS:
1
OBJ:
18.1
NAT:
AACSB: R

TYP:
App

3.
____ is the set of expectations that an individual holds about what he or she will contribute to the organization and what it will provide in return.

	a.
	Cognitive dissonance

	b.
	A psychological contract

	c.
	An organizational contract

	d.
	Collaboration

	e.
	Organizational citizenship


ANS:
B
PTS:
1
OBJ:
18.1
NAT:
AACSB: A

TYP:
Def

4.
Salary, working conditions, and business travel are examples of ____ from an organization.

	a.
	inducements

	b.
	intangibles

	c.
	psychological contracts

	d.
	contributions

	e.
	competencies


ANS:
A
PTS:
1
OBJ:
18.1
NAT:
AACSB: A

TYP:
App

5.
Mary Paule is independent, determined, defiant, and competitive. These are examples of her

	a.
	inducements.

	b.
	intangibles.

	c.
	psychological contracts.

	d.
	contributions.

	e.
	competencies.


ANS:
D
PTS:
1
OBJ:
18.1
NAT:
AACSB: A

TYP:
App

6.
Warren is diligent, slow, and thorough. These are examples of his

	a.
	competencies.

	b.
	psychological contracts.

	c.
	contributions.

	d.
	tangibles.

	e.
	inducements.


ANS:
C
PTS:
1
OBJ:
18.1
NAT:
AACSB: A

TYP:
App

7.
The extent to which the contributions made by an individual match the inducements offered by the organization is referred to as the

	a.
	person-job fit.

	b.
	individual/task match.

	c.
	contribution-competency fit.

	d.
	cognitive component.

	e.
	contribution component.


ANS:
A
PTS:
1
OBJ:
18.1
NAT:
AACSB: A

TYP:
Def

8.
____ is the relatively stable set of psychological and behavioral attributes that distinguish one person from another.

	a.
	Behavior

	b.
	Attitude

	c.
	Attribution

	d.
	Personality

	e.
	Motivation


ANS:
D
PTS:
1
OBJ:
18.2
NAT:
AACSB: A

TYP:
Def

9.
Which of the following personality traits is NOT one of the "Big Five"?

	a.
	Agreeableness

	b.
	Locus of control

	c.
	Extraversion

	d.
	Conscientiousness

	e.
	Negative emotionality


ANS:
B
PTS:
1
OBJ:
18.2
NAT:
AACSB: A

TYP:
Def

10.
A person's ability to get along with others in an organization is known as

	a.
	extraversion.

	b.
	positive affectivity.

	c.
	agreeableness.

	d.
	self-efficacy.

	e.
	conscientiousness.


ANS:
C
PTS:
1
OBJ:
18.2
NAT:
AACSB: A

TYP:
Def

11.
Ellie likes to make new friends. In terms of the "Big Five" personality traits, she has more

	a.
	locus of control.

	b.
	positive affectivity.

	c.
	agreeableness.

	d.
	self-efficacy.

	e.
	extraversion.


ANS:
E
PTS:
1
OBJ:
18.2
NAT:
AACSB: R

TYP:
App

12.
Doreen likes to focus on one thing at a time and hates interruptions. This refers to her

	a.
	conscientiousness.

	b.
	openness.

	c.
	self-efficacy.

	d.
	agreeableness.

	e.
	positive affectivity.


ANS:
A
PTS:
1
OBJ:
18.2
NAT:
AACSB: A

TYP:
App

13.
A person's range of interest is captured in the personality trait of

	a.
	openness.

	b.
	positive affectivity.

	c.
	agreeableness.

	d.
	self-efficacy.

	e.
	low conscientiousness.


ANS:
A
PTS:
1
OBJ:
18.2
NAT:
AACSB: R

TYP:
App

14.
When Jerre Stead took over as the CEO of Ingram Micro, he was following a CEO who was strongly authoritarian. Stead immediately removed all office doors. This gesture indicated his willingness to consider new ideas and his

	a.
	openness.

	b.
	positive affectivity.

	c.
	agreeableness.

	d.
	self-efficacy.

	e.
	conscientiousness.


ANS:
A
PTS:
1
OBJ:
18.2
NAT:
AACSB: R

TYP:
App

15.
Elyssa says she does not like people. They annoy her easily. According to the "Big Five" personality traits, Elyssa has more

	a.
	openness.

	b.
	negative emotionality.

	c.
	agreeableness.

	d.
	self-efficacy.

	e.
	conscientiousness.


ANS:
B
PTS:
1
OBJ:
18.2
NAT:
AACSB: R

TYP:
App

16.
____ refers to a person's comfort level with relationships.

	a.
	Conscientiousness

	b.
	Openness

	c.
	Self-efficacy

	d.
	Agreeableness

	e.
	Extraversion


ANS:
E
PTS:
1
OBJ:
18.2
NAT:
AACSB: A

TYP:
Def

17.
Juwan seems to like every idea that comes his way. He does not have a core of beliefs. According to the "Big Five" personality traits, he has more

	a.
	openness.

	b.
	negative emotionality.

	c.
	agreeableness.

	d.
	self-efficacy.

	e.
	conscientiousness.


ANS:
A
PTS:
1
OBJ:
18.2
NAT:
AACSB: R

TYP:
App

18.
James gets his energy from other people, likes the big picture, makes gut decisions, and completes work before moving on to the next project. His traits illustrate the ____ dimensions of the Myers-Briggs Type Indicator.

	a.
	Extrovert, intuitive, thinking, judge

	b.
	Extrovert, intuitive, feeling, judge

	c.
	Introvert, intuitive, feeling, judge

	d.
	Introvert, sensing, thinking, judge

	e.
	Introvert, sensing, feeling, perceiver


ANS:
B
PTS:
1
OBJ:
18.2
NAT:
AACSB: R

TYP:
App

19.
Evelyn gets her energy from others, likes creative tasks, is logical and likes finishing things. Her traits illustrate the ____ dimensions of the Myers-Briggs Type Indicator.

	a.
	Extrovert, intuitive, thinking, judge

	b.
	Extrovert, intuitive, feeling, perceiver

	c.
	Introvert, intuitive, feeling, judge

	d.
	Introvert, sensing, thinking, judge

	e.
	Introvert, sensing, feeling, perceiver


ANS:
A
PTS:
1
OBJ:
18.2
NAT:
AACSB: R

TYP:
App

20.
Antoine likes concrete things. This trait illustrates the ____ dimension of the Myers-Briggs Type Indicator.

	a.
	judging

	b.
	intuitive

	c.
	thinking

	d.
	feeling

	e.
	sensing


ANS:
E
PTS:
1
OBJ:
18.2
NAT:
AACSB: R

TYP:
App

21.
Lynn has two projects to choose from. She knows the big one takes weeks and is important. The small one, she can finish by the end of the day, but it is not that important. Her decision to work on the small one illustrates her ____ dimension of the Myers-Briggs Type Indicator.

	a.
	judging

	b.
	perceiving

	c.
	thinking

	d.
	feeling

	e.
	sensing


ANS:
A
PTS:
1
OBJ:
18.2
NAT:
AACSB: R

TYP:
App

22.
Dale takes responsibility for everything. When something goes wrong he will trace it backward until he finds his involvement and determine what he could have done to prevent it. He has a(n)

	a.
	high-risk propensity.

	b.
	dogmatic set of beliefs.

	c.
	internal locus of control.

	d.
	external locus of control.

	e.
	high level of competency.


ANS:
C
PTS:
1
OBJ:
18.2
NAT:
AACSB: R

TYP:
App

23.
Charlie believes "let go and let God." Charlie has a(n)

	a.
	high-risk propensity.

	b.
	dogmatic set of beliefs.

	c.
	internal locus of control.

	d.
	external locus of control.

	e.
	high level of competency.


ANS:
D
PTS:
1
OBJ:
18.2
NAT:
AACSB: R

TYP:
App

24.
____ is the term used to describe an individual's beliefs about his or her capabilities to perform a task.

	a.
	Self-efficacy

	b.
	Self-esteem

	c.
	Self-monitoring

	d.
	Confidence

	e.
	Machiavellianism


ANS:
A
PTS:
1
OBJ:
18.2
NAT:
AACSB: A

TYP:
Def

25.
Since Jeffrey took over as CEO the stock value has tumbled for more than two years. Jeffrey is doubting his capabilities. In other words, he has had low

	a.
	self-efficacy.

	b.
	self-esteem.

	c.
	self-monitoring.

	d.
	risk propensity.

	e.
	dogmatism.


ANS:
A
PTS:
1
OBJ:
18.2
NAT:
AACSB: R

TYP:
App

26.
Serena blames everything on someone else. Nothing is ever her fault. She has a(n)

	a.
	high-risk propensity.

	b.
	dogmatic set of beliefs.

	c.
	internal locus of control.

	d.
	external locus of control.

	e.
	high level of competency.


ANS:
D
PTS:
1
OBJ:
18.2
NAT:
AACSB: R

TYP:
App

27.
____ is the extent to which a person believes that power and status differences are appropriate within organizations.

	a.
	Dogmatism

	b.
	Locus of control

	c.
	Authoritarianism

	d.
	Risk propensity

	e.
	Self-efficiency


ANS:
C
PTS:
1
OBJ:
18.2
NAT:
AACSB: A

TYP:
Def

28.
If you accept everything your professor says solely because he or she is "the professor," you are highly

	a.
	dogmatic.

	b.
	self-monitoring.

	c.
	authoritarian.

	d.
	motivated.

	e.
	perceptive.


ANS:
C
PTS:
1
OBJ:
18.2
NAT:
AACSB: R

TYP:
App

29.
Alan enjoys manipulating others to his own benefit. He sees telling lies as a gray area and is loyal only to himself. He is highly

	a.
	authoritative.

	b.
	dogmatism.

	c.
	Machiavellian.

	d.
	effective.

	e.
	risk propensity.


ANS:
C
PTS:
1
OBJ:
18.2
NAT:
AACSB: A

TYP:
Def

30.
Machiavellianism is

	a.
	a term used to describe behavior directed at gaining power and controlling the behavior of others.

	b.
	a personality trait.

	c.
	not consistently present in all people.

	d.
	used by individuals who are rational and unemotional.

	e.
	All of these choices


ANS:
E
PTS:
1
OBJ:
18.2
NAT:
AACSB: A

TYP:
Def

31.
An individual who has been described as Machiavellian would

	a.
	put a high value on friendship.

	b.
	get little personal pleasure from manipulating others.

	c.
	tend to be rational and unemotional.

	d.
	not be willing to lie to get a promotion or a bonus.

	e.
	want his or her superiors to be authoritarian.


ANS:
C
PTS:
1
OBJ:
18.2
NAT:
AACSB: A

TYP:
Def

32.
An employee with high self-esteem is likely to

	a.
	seek higher-status jobs.

	b.
	be confident in his ability to perform.

	c.
	derive intrinsic satisfaction from accomplishments.

	d.
	believe she is a worthwhile person.

	e.
	All of these choices


ANS:
E
PTS:
1
OBJ:
18.2
NAT:
AACSB: R

TYP:
Comp

33.
If you are proud of your accomplishments yet look forward to achieving higher levels of performance and are confident in your abilities, you have high

	a.
	conformity.

	b.
	risk propensity.

	c.
	self-monitoring.

	d.
	locus of control.

	e.
	self-esteem.


ANS:
E
PTS:
1
OBJ:
18.2
NAT:
AACSB: A

TYP:
Def

34.
____ is the extent to which a person believes that he or she is a worthwhile and deserving individual.

	a.
	Self-esteem

	b.
	Conformity

	c.
	Self-monitoring

	d.
	Risk propensity

	e.
	Self-image


ANS:
A
PTS:
1
OBJ:
18.2
NAT:
AACSB: A

TYP:
Def

35.
____ is the degree to which an individual is willing to take chances and make decisions.

	a.
	Self-esteem

	b.
	Conformity

	c.
	Competency

	d.
	Self-monitoring

	e.
	Risk propensity


ANS:
E
PTS:
1
OBJ:
18.2
NAT:
AACSB: A

TYP:
Def

36.
Bernard Madoff defrauded "friends" and family. He even took money from holocaust survivors and foundations. This indicates a high level of

	a.
	authoritarianism.

	b.
	risk propensity.

	c.
	external locus of control.

	d.
	Machiavellianism.

	e.
	conformity.


ANS:
D
PTS:
1
OBJ:
18.2
NAT:
AACSB: R

TYP:
App

37.
Martha had parents who were perfectionists. She has been very successful in running her business, but she is overly critical of herself. Martha has low

	a.
	conformity.

	b.
	risk propensity.

	c.
	self-monitoring.

	d.
	locus of control.

	e.
	self-esteem.


ANS:
E
PTS:
1
OBJ:
18.2
NAT:
AACSB: R

TYP:
App

38.
A manager who is willing to lose it all on one product has high

	a.
	locus of control.

	b.
	self-esteem.

	c.
	Machiavellianism.

	d.
	emotional intelligence.

	e.
	risk propensity.


ANS:
E
PTS:
1
OBJ:
18.2
NAT:
AACSB: A

TYP:
Def

39.
The beliefs and feelings that people have about specific ideas, situations, and people are known as

	a.
	personality attributes.

	b.
	attitudes.

	c.
	perceptions.

	d.
	characteristics.

	e.
	behaviors.


ANS:
B
PTS:
1
OBJ:
18.3
NAT:
AACSB: A

TYP:
Def

40.
The ____ component of an attitude reflects feelings and emotions that an individual has toward something.

	a.
	cognitive

	b.
	intentional

	c.
	dissonance

	d.
	affective

	e.
	affirmative


ANS:
D
PTS:
1
OBJ:
18.3
NAT:
AACSB: A

TYP:
Def

41.
If you perceive that one method of completing a task is the most efficient, but your coworker perceives that her idea is better, the ____ components of your attitudes differ.

	a.
	intentional

	b.
	intellectual

	c.
	affective

	d.
	cognitive

	e.
	emotional


ANS:
D
PTS:
1
OBJ:
18.3
NAT:
AACSB: R

TYP:
App

42.
The ____ component of an attitude reflects how a person expects to behave in a situation.

	a.
	cognitive

	b.
	perceptive

	c.
	affective

	d.
	intentional

	e.
	intellectual


ANS:
D
PTS:
1
OBJ:
18.3
NAT:
AACSB: A

TYP:
Def

43.
Christine "knows" that Paul is independent, a trait she admires. Renee "knows" that Paul is defiant, a trait she does not admire. The ____ components of their attitudes differ.

	a.
	intentional

	b.
	intellectual

	c.
	affective

	d.
	cognitive

	e.
	behavioral


ANS:
D
PTS:
1
OBJ:
18.3
NAT:
AACSB: R

TYP:
App

44.
Andrew likes the way a political candidate looks and speaks. He knows he agrees with the candidate on important issues. Andrew voted for her. Voting was the ____ component of Andrew's attitude.

	a.
	cognitive

	b.
	intentional

	c.
	dissonance

	d.
	affective

	e.
	affirmative


ANS:
B
PTS:
1
OBJ:
18.3
NAT:
AACSB: R

TYP:
App

45.
____ dissonance refers to the conflict that individuals experience among their attitudes.

	a.
	Behavioral

	b.
	Intentional

	c.
	Personal

	d.
	Cognitive

	e.
	Affective


ANS:
D
PTS:
1
OBJ:
18.3
NAT:
AACSB: A

TYP:
Def

46.
Kristen worked in a fast-food restaurant to pay for her college tuition. Kristen vowed never to eat fast food again. But years later her small children love nothing better than a fast-food kid's meal. Kristen's acceptance of the kid's menu choice creates

	a.
	a setback.

	b.
	cognitive dissonance.

	c.
	affective dissonance.

	d.
	intentional dissonance.

	e.
	behavioral dissonance.


ANS:
B
PTS:
1
OBJ:
18.3
NAT:
AACSB: R

TYP:
App

47.
An individual's level of job satisfaction is determined by

	a.
	compensation.

	b.
	personal needs and aspirations.

	c.
	relationships with coworkers and supervisors.

	d.
	working conditions.

	e.
	All of these choices


ANS:
E
PTS:
1
OBJ:
18.3
NAT:
AACSB: A

TYP:
Def

48.
Personal factors such as an individual's needs and aspirations, as well as organizational factors such as relationships with coworkers and supervisors, working conditions, work policies, and compensation, all help determine an individual's level of

	a.
	intrinsic self-relevance.

	b.
	authoritarianism.

	c.
	attribution.

	d.
	job satisfaction.

	e.
	behavior.


ANS:
D
PTS:
1
OBJ:
18.3
NAT:
AACSB: A

TYP:
Def

49.
____ is an attitude that reflects an individual's identification with and attachment to an organization.

	a.
	Job involvement

	b.
	Organizational commitment

	c.
	Organizational citizenship

	d.
	Job satisfaction

	e.
	Job identification


ANS:
B
PTS:
1
OBJ:
18.3
NAT:
AACSB: A

TYP:
Def

50.
Dorothy is overweight and smokes, even though she knows that both of these are bad for her health. She is most likely experiencing

	a.
	cognitive dissonance.

	b.
	low self-esteem.

	c.
	an external locus of control.

	d.
	low risk propensity.

	e.
	burnout.


ANS:
A
PTS:
1
OBJ:
18.3
NAT:
AACSB: R

TYP:
App

51.
Corinne observed her company laying people off without notice or explanation. Her ____ will likely decrease.

	a.
	organizational commitment

	b.
	job satisfaction

	c.
	selective perception

	d.
	external locus of control

	e.
	high authoritarianism


ANS:
A
PTS:
1
OBJ:
18.3
NAT:
AACSB: R

TYP:
App

52.
Howard Schultz, the CEO of Starbucks, hires managers by looking for two qualitiesintegrity and passion. According to Schultz, these qualities are as important as experience and abilities because he wants people to become passionate about helping the company succeed while maintaining high ethical standards that promote the organization's responsibility to society. In other words, Schultz values

	a.
	organizational commitment.

	b.
	job satisfaction.

	c.
	selective perception.

	d.
	an external locus of control.

	e.
	high authoritarianism.


ANS:
A
PTS:
1
OBJ:
18.3
NAT:
AACSB: R

TYP:
App

53.
Stacey complains constantly. The world has never been fair to her. This is known as

	a.
	being realistic.

	b.
	negative affectivity.

	c.
	an external locus of control.

	d.
	cognitive dissonance.

	e.
	the cognition part of an attitude.


ANS:
B
PTS:
1
OBJ:
18.3
NAT:
AACSB: R

TYP:
App

54.
Juan has a tendency to see the good side of each situation. This is known as

	a.
	cognitive dissonance.

	b.
	self-efficacy.

	c.
	an internal locus of control.

	d.
	positive affectivity.

	e.
	the cognition part of an attitude.


ANS:
D
PTS:
1
OBJ:
18.3
NAT:
AACSB: R

TYP:
App

55.
Tom Evslin knew that using the Internet to make telephone calls was a good idea, but the static you get when you try to talk with a computer and a microphone to someone else with a computer and a microphone is unacceptable. He started a new company to make it possible to use the Internet to make clear telephone calls. He is very excited about his new company's possibility and claims, "I have just barely opened the door for this new technology. We're going to be more successful than AT&T." Which of the following terms best describes Evslin?

	a.
	An internal locus of control

	b.
	Positive affectivity

	c.
	Machiavellian

	d.
	Authoritarian

	e.
	Negative affectivity


ANS:
B
PTS:
1
OBJ:
18.3
NAT:
AACSB: R

TYP:
App

56.
____ is the process of screening out information that we are uncomfortable with or that contradicts our beliefs.

	a.
	Objective reality

	b.
	Perceived reality

	c.
	Stereotyping

	d.
	Selective perception

	e.
	Self-relevant observation


ANS:
D
PTS:
1
OBJ:
18.4
NAT:
AACSB: A

TYP:
Def

57.
____ is a set of processes by which individuals become aware of and interpret information about their environment.

	a.
	Selective attitude

	b.
	Perception

	c.
	Objective reality

	d.
	Stereotyping

	e.
	Perceived reality


ANS:
B
PTS:
1
OBJ:
18.4
NAT:
AACSB: A

TYP:
Def

58.
Some smokers block out negative information about the health effects of smoking because they do not want to change their behavior. They are using

	a.
	perceived reality.

	b.
	objective reality.

	c.
	stereotyping.

	d.
	negative affectivity.

	e.
	selective perception.


ANS:
E
PTS:
1
OBJ:
18.4
NAT:
AACSB: E

TYP:
App

59.
One of the reasons Bernard Madoff got away with his Ponzi scheme for so long is that his investors saw him as a friend and used ____ to disregard questionable behavior.

	a.
	sexism

	b.
	racism

	c.
	stereotyping

	d.
	attribution

	e.
	selective perception


ANS:
E
PTS:
1
OBJ:
18.4
NAT:
AACSB: R

TYP:
App

60.
Someone who categorizes people based on a single attribute

	a.
	is engaged in stereotyping.

	b.
	is exhibiting selective perception.

	c.
	has an external locus of control.

	d.
	believes in authoritarianism.

	e.
	is exhibiting burnout.


ANS:
A
PTS:
1
OBJ:
18.4
NAT:
AACSB: A

TYP:
Def

61.
Fred is in the Army. He saw a couple major motion pictures that took place in Iraq. They were so inaccurate, he refuses to see another war movie. He now thinks all Hollywood producers are left-wing zealots. Fred is using

	a.
	sexism.

	b.
	racism.

	c.
	stereotyping.

	d.
	attribution.

	e.
	selective perception.


ANS:
C
PTS:
1
OBJ:
18.4
NAT:
AACSB: R

TYP:
App

62.
When Heather learned that two WWF professional wrestlers had written a children's book, she automatically assumed that it would be too violent for her children to read. Heather is exhibiting

	a.
	organizational commitment.

	b.
	low self-esteem.

	c.
	stereotyping.

	d.
	selective perception.

	e.
	authoritarianism.


ANS:
C
PTS:
1
OBJ:
18.4
NAT:
AACSB: R

TYP:
App

63.
____ is a mechanism through which we observe behavior and then assign causes to it.

	a.
	Attribution

	b.
	Stereotyping

	c.
	Perception

	d.
	Selective perception

	e.
	Attitude formation


ANS:
A
PTS:
1
OBJ:
18.4
NAT:
AACSB: A

TYP:
Def

64.
Individuals form ____ for behavior by recognizing that the three types of patterns are consensus, consistency, and distinctiveness.

	a.
	perceptions

	b.
	attitudes

	c.
	stereotypes

	d.
	attributions

	e.
	personalities


ANS:
D
PTS:
1
OBJ:
18.4
NAT:
AACSB: A

TYP:
Def

65.
The basic framework around which we form attributions is

	a.
	consensus, consistency, and distinctiveness.

	b.
	synergy, empathy, and compassion.

	c.
	consensus, continuity, and consistency.

	d.
	empathy, consensus, and differentiation.

	e.
	empathy, distinctiveness, and continuity.


ANS:
A
PTS:
1
OBJ:
18.4
NAT:
AACSB: A

TYP:
Def

66.
The manager of Abigail's Fabrics is upset because the workers' lounge looks like a pigsty. She has determined that there is no one individual responsible for the mess, and in fact, she is the only one who is bothered by the trash. She has also determined that her employees keep their cars and their lockers just as slovenly. The attribution she forms about her subordinates is BEST described as

	a.
	low consensus and low distinctiveness.

	b.
	low consistency and high distinctiveness.

	c.
	high consensus and high consistency.

	d.
	low distinctiveness, high consensus, and low consistency.

	e.
	None of these choices


ANS:
C
PTS:
1
OBJ:
18.4
NAT:
AACSB: R

TYP:
App

67.
Stress

	a.
	is an attitude.

	b.
	has no impact on personality type.

	c.
	is an individual's response to a strong stimulus.

	d.
	is a consequence of burnout.

	e.
	All of these choices


ANS:
C
PTS:
1
OBJ:
18.5
NAT:
AACSB: A

TYP:
Def

68.
Which of the following statements BEST describes the general relationship between stress and performance?

	a.
	As stress increases, performance will decrease.

	b.
	As performance increases, so does stress.

	c.
	As stress increases, performance will increase for a time.

	d.
	As stress increases, performance will steadily increase.

	e.
	As performance decreases, so does stress.


ANS:
C
PTS:
1
OBJ:
18.5
NAT:
AACSB: R

TYP:
Comp

69.
Stress may be defined as

	a.
	the result of diminishing capacities.

	b.
	an uncommon but serious reaction to too much change.

	c.
	a physical or psychological response to strain.

	d.
	an environmental force that affects performance.

	e.
	pressure on the worker.


ANS:
C
PTS:
1
OBJ:
18.5
NAT:
AACSB: A

TYP:
Def

70.
Stressors are defined as

	a.
	the result of cognitive dissonance.

	b.
	the stimuli that cause stress.

	c.
	situations that should be avoided.

	d.
	stress on the job.

	e.
	anything that decreases performance.


ANS:
B
PTS:
1
OBJ:
18.5
NAT:
AACSB: A

TYP:
Def

71.
People want to flee or fight in the ____ stage of the General Adaptation Syndrome.

	a.
	alarm

	b.
	panic

	c.
	resistance

	d.
	affective

	e.
	emotional


ANS:
A
PTS:
1
OBJ:
18.5
NAT:
AACSB: A

TYP:
Def

72.
The first stage of the General Adaptation Syndrome is

	a.
	resistance.

	b.
	denial.

	c.
	exhaustion.

	d.
	alarm.

	e.
	selective perception.


ANS:
D
PTS:
1
OBJ:
18.5
NAT:
AACSB: A

TYP:
Def

73.
In which stage of the General Adaptation Syndrome will an individual do whatever he or she can to cope with the situation?

	a.
	Resistance

	b.
	Denial

	c.
	Exhaustion

	d.
	Alarm

	e.
	Affective


ANS:
A
PTS:
1
OBJ:
18.5
NAT:
AACSB: A

TYP:
Def

74.
At the death of her husband Bronson Ingram, Martha Ingram unexpectedly became the CEO of Ingram Industries, a billion-dollar conglomerate with holdings in the publishing, music, barge, dredging, computer distribution industries, and others. As she took on the duties of Ingram Industries CEO, Martha Ingram was at which stage of the General Adaptation Syndrome?

	a.
	Resistance

	b.
	Denial

	c.
	Exhaustion

	d.
	Alarm

	e.
	Affective


ANS:
D
PTS:
1
OBJ:
18.5
NAT:
AACSB: R

TYP:
App

75.
The final stage of the General Adaptation Syndrome is

	a.
	resistance.

	b.
	decline.

	c.
	recognition.

	d.
	exhaustion.

	e.
	acceptance.


ANS:
D
PTS:
1
OBJ:
18.5
NAT:
AACSB: A

TYP:
Def

76.
Which of the following is NOT a characteristic of a Type A person?

	a.
	Anxiety

	b.
	Hostility

	c.
	Compulsiveness

	d.
	Competitiveness

	e.
	Patience


ANS:
E
PTS:
1
OBJ:
18.5
NAT:
AACSB: A

TYP:
Def

77.
Which of the following statements describes the major differences between Type B and Type A individuals?

	a.
	Type B individuals have less patience

	b.
	Type B individuals have a more balanced approach to life.

	c.
	Type B individuals are usually less healthy.

	d.
	Type B individuals are less intelligent.

	e.
	Type B individuals are more competitive.


ANS:
B
PTS:
1
OBJ:
18.5
NAT:
AACSB: R

TYP:
Comp

78.
Which of the following statements about Type A personalities is FALSE?

	a.
	They are extremely competitive.

	b.
	They are less likely to experience conflict with other people.

	c.
	They are more likely to experience stress.

	d.
	They are very work-oriented.

	e.
	They have a lot of drive and want to accomplish as much as possible as quickly as possible.


ANS:
B
PTS:
1
OBJ:
18.5
NAT:
AACSB: R

TYP:
Comp

79.
Herman believes he needs balance between work and his personal life. He will not work on weekends and frequently asks for deadline extensions. He exhibits

	a.
	Type A behavior.

	b.
	Type B personality.

	c.
	selective perception.

	d.
	an internal locus of control.

	e.
	cognitive dissonance.


ANS:
B
PTS:
1
OBJ:
18.5
NAT:
AACSB: R

TYP:
App

80.
Organizational stressors include

	a.
	task demands.

	b.
	physical demands.

	c.
	role demands.

	d.
	interpersonal demands.

	e.
	All of these choices


ANS:
E
PTS:
1
OBJ:
18.5
NAT:
AACSB: A

TYP:
Def

81.
Work stress can be caused by all of the following EXCEPT

	a.
	promotion.

	b.
	interpersonal relationships.

	c.
	pay increase.

	d.
	work demands.

	e.
	burnout.


ANS:
E
PTS:
1
OBJ:
18.5
NAT:
AACSB: A

TYP:
Def

82.
Which of the following is NOT an example of a stressor from the task demand category?

	a.
	Having to make decisions quickly

	b.
	Making decisions that have serious consequences

	c.
	Making decisions without complete information

	d.
	Making decisions between job and family responsibilities

	e.
	Making a decision that could endanger someone's life


ANS:
D
PTS:
1
OBJ:
18.5
NAT:
AACSB: A

TYP:
Def

83.
At work there is a conference room nicknamed "the meat locker." If Royce has a meeting in there, he is too cold to concentrate. This is an example of ____ demands that can lead to stress.

	a.
	role

	b.
	physical

	c.
	task

	d.
	interpersonal

	e.
	psychological


ANS:
B
PTS:
1
OBJ:
18.5
NAT:
AACSB: R

TYP:
App

84.
In Chapter 9 you learned that most decisions are made under conditions of uncertainty. This leads to stress caused by ____ demands.

	a.
	role

	b.
	physical

	c.
	task

	d.
	interpersonal

	e.
	psychological


ANS:
C
PTS:
1
OBJ:
18.5
NAT:
AACSB: D

TYP:
Comp

85.
A surgeon, who is responsible for life and death decisions, would be a likely candidate for stress caused by ____ demand.

	a.
	role

	b.
	physical

	c.
	task

	d.
	interpersonal

	e.
	psychological


ANS:
C
PTS:
1
OBJ:
18.5
NAT:
AACSB: R

TYP:
App

86.
Michael wants to become a surgeon. One of his goals is to be assigned to surgeries whenever possible. He wants to perform his job well in the emergency room. He also wants to provide the care that his child needs. He desires to have a satisfying relationship with his wife. He wants to do a good job mentoring a group of residents and interns. He would like to help his sister deal with the loss of her son. Michael is likely to experience stress as a result of ____ demand.

	a.
	role

	b.
	physical

	c.
	task

	d.
	interpersonal

	e.
	psychological


ANS:
A
PTS:
1
OBJ:
18.5
NAT:
AACSB: R

TYP:
App

87.
Roberto feels a strong need for consensus, but his team member loves to debate everything and play devil's advocate. This is an example of which type of organizational stressor?

	a.
	Role demands

	b.
	Task demands

	c.
	Interpersonal demands

	d.
	Physical demands

	e.
	Personal demands


ANS:
C
PTS:
1
OBJ:
18.5
NAT:
AACSB: R

TYP:
App

88.
Too little stress can cause a person to

	a.
	feel invigorated.

	b.
	be healthy and pleased with life.

	c.
	develop healthy coping techniques.

	d.
	become lethargic.

	e.
	become anxious about time pressures.


ANS:
D
PTS:
1
OBJ:
18.5
NAT:
AACSB: R

TYP:
Comp

89.
Psychological consequences of stress include

	a.
	sleep disturbances.

	b.
	withdrawal.

	c.
	alcoholism.

	d.
	appetite disorders.

	e.
	smoking.


ANS:
A
PTS:
1
OBJ:
18.5
NAT:
AACSB: A

TYP:
Def

90.
Behavioral consequences of organizational stress include

	a.
	depression.

	b.
	drug abuse.

	c.
	turnover.

	d.
	absenteeism.

	e.
	decreased performance.


ANS:
B
PTS:
1
OBJ:
18.5
NAT:
AACSB: A

TYP:
Def

91.
Which of the following is suggested as a way for individuals to manage stress?

	a.
	Exercise

	b.
	Relaxation

	c.
	Support groups

	d.
	Time management

	e.
	All of these choices


ANS:
E
PTS:
1
OBJ:
18.5
NAT:
AACSB: R

TYP:
Comp

92.
Which of the following is part of corporate wellness programs?

	a.
	Smoking cessation classes

	b.
	Exercise-related activities

	c.
	Weight reduction programs

	d.
	Stress management workshops

	e.
	All of these choices


ANS:
E
PTS:
1
OBJ:
18.5
NAT:
AACSB: R

TYP:
Comp

93.
Research suggests that creative people have which of the following personality traits?

	a.
	Openness

	b.
	Independence

	c.
	An attraction to complexity

	d.
	Strong self-confidence

	e.
	All of these choices


ANS:
E
PTS:
1
OBJ:
18.6
NAT:
AACSB: R

TYP:
Comp

94.
____ thinking is a skill that allows people to see differences between situations, phenomena, or events.

	a.
	Congruent

	b.
	Convergent

	c.
	Digressive

	d.
	Divergent

	e.
	Constructive


ANS:
D
PTS:
1
OBJ:
18.6
NAT:
AACSB: A

TYP:
Def

95.
Earthlink is interested in achieving name recognition with grassroots America. Its marketing department has developed three possible plans, all of which involve the sponsorship of country music concerts. Using ____ thinking, the manager was able to see that while the performers are all country music singers, each appeals to a different segment of the country music market.

	a.
	congruent

	b.
	convergent

	c.
	digressive

	d.
	divergent

	e.
	constructive


ANS:
D
PTS:
1
OBJ:
18.6
NAT:
AACSB: R

TYP:
App

96.
Latisha loves to read. She reads a lot of business, history, and biography books. She often notices similarities in the situations in the books with what she is managing at work. ____ thinking is a skill that allows her to see similarities between situations, phenomena, and events.

	a.
	Congruent

	b.
	Convergent

	c.
	Digressive

	d.
	Divergent

	e.
	Constructive


ANS:
B
PTS:
1
OBJ:
18.6
NAT:
AACSB: R

TYP:
App

97.
____ thinking is a skill that allows people to see similarities between situations, phenomena, or events.

	a.
	Incubation

	b.
	Insight

	c.
	Verification

	d.
	Convergent

	e.
	Preparation


ANS:
D
PTS:
1
OBJ:
18.6
NAT:
AACSB: A

TYP:
Def

98.
Avida Sports developed a sensor system that swimmers wear in the water and get computerized analysis of their stroke. Avida signed an agreement with a swim club to test the product before increasing production. Avida is in the ____ stage of the creative process.

	a.
	incubation.

	b.
	insight.

	c.
	verification.

	d.
	delineation.

	e.
	preparation.


ANS:
C
PTS:
1
OBJ:
18.6
NAT:
AACSB: R

TYP:
App

99.
The Department of Defense set a goal to develop a prosthetic arm that could pick up and feed a grape to its user. At the same time DOD started the process to fund the project with $100 million. Which period of the creative process is this?

	a.
	Incubation

	b.
	Insight

	c.
	Verification

	d.
	Delineation

	e.
	Preparation


ANS:
E
PTS:
1
OBJ:
18.6
NAT:
AACSB: R

TYP:
App

100.
____ is the pattern of action by the members of an organization that directly or indirectly influences organizational effectiveness.

	a.
	Organizational behavior

	b.
	Workplace action

	c.
	Workplace behavior

	d.
	Performance behavior

	e.
	Withdrawal behavior


ANS:
B
PTS:
1
OBJ:
18.7
NAT:
AACSB: A

TYP:
Def

101.
If you are a reporter for a newspaper, you are expected to write, edit, and proofread stories by the paper's deadline. These expectations are referred to as

	a.
	workplace behaviors.

	b.
	performance behaviors.

	c.
	withdrawal behaviors.

	d.
	job attributes.

	e.
	organizational citizenship.


ANS:
B
PTS:
1
OBJ:
18.7
NAT:
AACSB: R

TYP:
App

102.
____ usually causes an organization to incur costs for replacing individuals.

	a.
	Turnover

	b.
	Absenteeism

	c.
	Workplace behavior

	d.
	Performance behavior

	e.
	Perceptual attitude


ANS:
A
PTS:
1
OBJ:
18.7
NAT:
AACSB: A

TYP:
Def

103.
____ is the behavior of individuals that makes a positive overall contribution to the organization.

	a.
	Performance behavior

	b.
	Collaboration

	c.
	Organizational attitude

	d.
	Organizational citizenship

	e.
	Turnover


ANS:
D
PTS:
1
OBJ:
18.7
NAT:
AACSB: A

TYP:
Def

104.
Marcy's work is above average as far as quality and quantity of production goes. However, she refuses to work overtime and won't help newcomers. This is an example of

	a.
	cognitive dissonance.

	b.
	poor organizational citizenship.

	c.
	burnout.

	d.
	a Type B personality.

	e.
	a person with an external locus of control.


ANS:
B
PTS:
1
OBJ:
18.7
NAT:
AACSB: R

TYP:
App

105.
Paula works as a safety engineer for a large petroleum-processing company. She is always willing to look at possible dangerous situations, talk to employee groups about developing safety habits, and monitor the organization to make sure it complies with OSHA standards. She never complains if she needs to work overtime on holidays or weekends. Paula is

	a.
	experiencing cognitive dissonance.

	b.
	a good organizational citizen.

	c.
	experiencing burnout.

	d.
	a Type B personality.

	e.
	a person with an external locus of control.


ANS:
B
PTS:
1
OBJ:
18.7
NAT:
AACSB: R

TYP:
App
COMPLETION

1.
The overall set of expectations held by an individual about what he or she will contribute to the organization and what the organization will provide to the individual is a(n) ____________________.
ANS:
psychological contract
PTS:
1
OBJ:
18.1
NAT:
AACSB: A

2.
Pay, job security, benefits, career opportunities and status are some ____________________ organizations make to an individual.
ANS:
inducements
PTS:
1
OBJ:
18.1
NAT:
AACSB: A

3.
____________________ is the extent to which the contributions made by the individual match the inducements offered by the organization.
ANS:
Person-job fit
PTS:
1
OBJ:
18.1
NAT:
AACSB: A

4.
____________________ may be physical, psychological, or emotional.
ANS:
Individual differences
PTS:
1
OBJ:
18.1
NAT:
AACSB: A

5.
____________________ refers to a person's ability to get along with others.
ANS:
Agreeableness
PTS:
1
OBJ:
18.2
NAT:
AACSB: A

6.
Dale has a(n) ____________________ because he believes that he earned everything he ever got.
ANS:
internal locus of control
PTS:
1
OBJ:
18.2
NAT:
AACSB: R

7.
People with the MBTI ____________________ like task identity.
ANS:
judging
PTS:
1
OBJ:
18.2
NAT:
AACSB: A

8.
____________________ is an individual's beliefs about her or his capabilities to perform a task.
ANS:
Self-efficacy
PTS:
1
OBJ:
18.2
NAT:
AACSB: A

9.
____________________ is behavior directed at gaining power and controlling the behavior of others.
ANS:
Machiavellianism
PTS:
1
OBJ:
18.2
NAT:
AACSB: A

10.
Because Stan once read about a scandal involving a local politician, he refuses to support that politician's candidacy for higher office. This reflects the ____________________ component of his attitude about the candidate.
ANS:
cognitive
PTS:
1
OBJ:
18.3
NAT:
AACSB: R

11.
The ____________________ of an attitude reflects feelings and emotions an individual has toward a situation.
ANS:
affective component
PTS:
1
OBJ:
18.3
NAT:
AACSB: A

12.
The conflict individuals may experience among their own attitudes is called ____________________.
ANS:
cognitive dissonance
PTS:
1
OBJ:
18.3
NAT:
AACSB: A

13.
____________________ is an attitude that reflects the extent to which an individual is gratified by or fulfilled in his or her work.
ANS:
Job satisfaction or dissatisfaction
PTS:
1
OBJ:
18.3
NAT:
AACSB: A

14.
____________________ is the process of screening out information that we are uncomfortable with or that contradicts our beliefs.
ANS:
Selective perception
PTS:
1
OBJ:
18.4
NAT:
AACSB: A

15.
Simon thinks all Asians are smart. This is an example of a(n) ____________________.
ANS:
stereotype
PTS:
1
OBJ:
18.4
NAT:
AACSB: R

16.
____________________ is the extent to which the same person behaves in the same way in other situations.
ANS:
Distinctiveness
PTS:
1
OBJ:
18.4
NAT:
AACSB: A

17.
____________________ is an individual's response to a strong stimulus.
ANS:
Stress
PTS:
1
OBJ:
18.5
NAT:
AACSB: A

18.
____________________ individuals are aggressive, impatient, and very work oriented.
ANS:
Type A
PTS:
1
OBJ:
18.5
NAT:
AACSB: A

19.
Betty feels stressed. Her boss expects her to run a big event and on the same night her daughter is in the finals for the state spelling bee. Betty feels ____________________.
ANS:
role conflict
PTS:
1
OBJ:
18.5
NAT:
AACSB: R

20.
____________________ are stressors associated with relationships that confront people in organizations.
ANS:
Interpersonal demands
PTS:
1
OBJ:
18.5
NAT:
AACSB: A

21.
One way people manage ____________________ is through prayer.
ANS:
stress
PTS:
1
OBJ:
18.5
NAT:
AACSB: A

22.
____________________ is the ability of an individual to generate new ideas or to conceive of new perspectives on existing ideas.
ANS:
Creativity
PTS:
1
OBJ:
18.6
NAT:
AACSB: A

23.
An author goes for a hike. She is probably in the ____________________ stage of the creative process.
ANS:
incubation
PTS:
1
OBJ:
18.6
NAT:
AACSB: R

24.
The Department of Defense spent $100 million to develop a prosthetic arm that could pick up and feed a grape to the user. They are testing its comfort and accuracy. They are in the ____________________ stage in the creative process.
ANS:
verification
PTS:
1
OBJ:
18.6
NAT:
AACSB: R

25.
____________________ are the total set of work-related behaviors that the organization expects the individual to display.
ANS:
Performance behaviors
PTS:
1
OBJ:
18.7
NAT:
AACSB: A

26.
____________________ occurs when an individual does not show up for work, legitimately or feigned.
ANS:
Absenteeism
PTS:
1
OBJ:
18.7
NAT:
AACSB: R

27.
One of your coworkers does acceptable work in terms of production quantity and quality, but he refuses to work late. He is probably not considered a good organizational ____________________.
ANS:
citizen
PTS:
1
OBJ:
18.7
NAT:
AACSB: A
MATCHING
Match the following. You may use a response once, more than once, or not at all.

	a.
	Preparation

	b.
	Incubation

	c.
	Insight

	d.
	Verification



1.
Rui is in the lab testing his insight

2.
Rui has multiple degrees in science fields. He works as a researcher for Merck

3.
Rui likes to garden, relax and let his mind run free

4.
Rui had a "light bulb" moment when he saw similar data from two previously unrelated studies

1.
ANS:
A
PTS:
1

2.
ANS:
D
PTS:
1

3.
ANS:
C
PTS:
1

4.
ANS:
B
PTS:
1
Match the following. You may use a response once, more than once, or not at all.

	a.
	Cognitive dissonance

	b.
	Intentional component

	c.
	Affective component

	d.
	Cognitive component



5.
Knowledge an individual has

6.
Feelings and emotions

7.
How a person expects to behave

5.
ANS:
D
PTS:
1

6.
ANS:
C
PTS:
1

7.
ANS:
B
PTS:
1
Match the following. You may use a response once, more than once, or not at all.

	a.
	Likes to make new friends

	b.
	Excitable, reactive

	c.
	Match between individual and organization

	d.
	Directed at gaining power

	e.
	Empathy

	f.
	Likes task identity

	g.
	Bases decisions on logic

	h.
	Number of goals a person focuses on

	i.
	Solitude recharges energy

	j.
	Prefers abstract concepts

	k.
	Bases decisions on emotion

	l.
	Enjoys the process

	m.
	Gets along with others

	n.
	Prefers concrete situations and details



8.
Agreeableness

9.
Conscientiousness

10.
Extroversion

11.
Sensing

12.
Introversion

13.
Feeling

14.
Negative emotionality

15.
Intuitive

16.
Judging

17.
Perceiving

18.
Person-job fit

19.
Thinking

8.
ANS:
M
PTS:
1

9.
ANS:
H
PTS:
1

10.
ANS:
A
PTS:
1

11.
ANS:
N
PTS:
1

12.
ANS:
I
PTS:
1

13.
ANS:
K
PTS:
1

14.
ANS:
B
PTS:
1

15.
ANS:
J
PTS:
1

16.
ANS:
F
PTS:
1

17.
ANS:
L
PTS:
1

18.
ANS:
C
PTS:
1

19.
ANS:
G
PTS:
1
Special Exercises

Severine works with Eric. Eric thinks Severine's emotions run high and low like a rollercoaster. He never knows if she will be up or down. Severine also works on everything at once and talks to everybody more than focusing on her projects. Severine enjoys learning about other cultures and new ideas. She gets along well with other people. Eric is more quiet and focused. He gets a lot done and is calm and secure. He enjoys learning new things and is curious. Eric is forgiving and good-natured. Match the following personality traits with the person described.

	a.
	Severine

	b.
	Eric

	c.
	Both Severine and Eric

	d.
	Neither Severine nor Eric



20.
High agreeableness

21.
Low agreeableness

22.
High conscientiousness

23.
Low conscientiousness

24.
Negative emotionality

25.
Positive emotionality

26.
Extraversion

27.
Introversion

28.
Openness

20.
ANS:
C
PTS:
1
TOP:
Special Exercises


21.
ANS:
D
PTS:
1
TOP:
Special Exercises


22.
ANS:
B
PTS:
1
TOP:
Special Exercises


23.
ANS:
A
PTS:
1
TOP:
Special Exercises


24.
ANS:
A
PTS:
1
TOP:
Special Exercises


25.
ANS:
B
PTS:
1
TOP:
Special Exercises


26.
ANS:
A
PTS:
1
TOP:
Special Exercises


27.
ANS:
B
PTS:
1
TOP:
Special Exercises


28.
ANS:
C
PTS:
1
TOP:
Special Exercises

Special Exercises

Hospital emergency rooms (ER) have the potential to be highly stressful. Match the following categories of stress with the description listed.

	a.
	Task demand

	b.
	Physical demand

	c.
	Role demand

	d.
	Interpersonal demand



29.
During flu season, emergency rooms are often overfilled with people whose ailments can be cured only with the passage of time.

30.
An ER supervisor has to discipline an employee who writes prescriptions for people who do not need the drug.

31.
ER personnel often socialize with each other because they do not have time to meet other people.

32.
Interns are sometimes required to work consecutive 12 hour shifts.

33.
ER personnel have to treat people who have highly contagious diseases like tuberculosis.

34.
Personnel may have to use an automated external defibrillator

35.
Before operating, personnel scrub thoroughly.

29.
ANS:
A
PTS:
1
TOP:
Special Exercises


30.
ANS:
C
PTS:
1
TOP:
Special Exercises


31.
ANS:
D
PTS:
1
TOP:
Special Exercises


32.
ANS:
C
PTS:
1
TOP:
Special Exercises


33.
ANS:
B
PTS:
1
TOP:
Special Exercises


34.
ANS:
A
PTS:
1
TOP:
Special Exercises


35.
ANS:
B
PTS:
1
TOP:
Special Exercises

ESSAY

1.
Define a psychological contract and describe the one that you made by entering college. What are your contributions, and what are the school's inducements?
ANS:


Answer not provided.
PTS:
1
OBJ:
18.1
NAT:
AACSB: R

2.
Describe the worst job you ever had. What made it a bad person-job fit?
ANS:


Answer not provided.
PTS:
1
OBJ:
18.1
NAT:
AACSB: R

3.
What personality attributes do you want your boss to have? How will that effect the organization?
ANS:


Answer not provided.
PTS:
1
OBJ:
18.2
NAT:
AACSB: R

4.
What is emotional intelligence? Do you think it can be taught in a college classroom? Why? Why not?
ANS:


Answer not provided.
PTS:
1
OBJ:
18.2
NAT:
AACSB: R

5.
How do job satisfaction, organization commitment, and positive affectivity influence the effectiveness of an organization?
ANS:


Answer not provided.
PTS:
1
OBJ:
18.3
NAT:
AACSB: R

6.
Assume that the employees in your organization do not have high levels of job satisfaction or organizational commitment. How will you go about trying to improve these attitudes?
ANS:


Answer not provided.
PTS:
1
OBJ:
18.3
NAT:
AACSB: R

7.
Julia is very outgoing. She seems to lead the grapevine and have a lot of acquaintances. Julia thinks she is friendly and involved. Someone else observing her thinks she is insecure and needy. Use attribution to explain the different perceptions.
ANS:


Answer not provided.
PTS:
1
OBJ:
18.4
NAT:
AACSB: R

8.
Fully explain the attribution process and how it is related to perception.
ANS:


Answer not provided.
PTS:
1
OBJ:
18.4
NAT:
AACSB: R

9.
Compare and contrast the two basic perceptual processes.
ANS:


Answer not provided.
PTS:
1
OBJ:
18.4
NAT:
AACSB: R

10.
Use the GAS process to describe a situation where you experienced stress.
ANS:


Answer not provided.
PTS:
1
OBJ:
18.5
NAT:
AACSB: R

11.
Are you a Type A or Type B personality? Do you want to stay that way? Why?
ANS:


Answer not provided.
PTS:
1
OBJ:
18.5
NAT:
AACSB: R

12.
Discuss organizational stressors.
ANS:


Answer not provided.
PTS:
1
OBJ:
18.5
NAT:
AACSB: R

13.
Discuss the relationship between stress and performance.
ANS:


Answer not provided.
PTS:
1
OBJ:
18.5
NAT:
AACSB: R

14.
Describe the relationship between creativity, innovation, and the product life cycle.
ANS:


Answer not provided.
PTS:
1
OBJ:
18.6
NAT:
AACSB: R

15.
Describe the four stages of the creative process.
ANS:


Answer not provided.
PTS:
1
OBJ:
18.6
NAT:
AACSB: R

16.
How can managers encourage creativity at work?
ANS:


Answer not provided.
PTS:
1
OBJ:
18.6
NAT:
AACSB: R

17.
How do workplace behaviors directly or indirectly impact organizational effectiveness?
ANS:


Answer not provided.
PTS:
1
OBJ:
18.7
NAT:
AACSB: R

18.
Describe three types of workplace behaviors. How do they affect the organization?
ANS:


Answer not provided.
PTS:
1
OBJ:
18.7
NAT:
AACSB: R
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